Use fractions or percentages to solve problems involving repeated proportional changes or the calculation of the original quantity given the result of a proportional change

	The interest earned on £500 invested for 2 years at a compound interest of 4% per year


	A number of years it takes a 400g radioactive substance to decay to between 322g and 250g if reducing by 10% each year
	The least number of years it would take for moss to cover up more than 1/2 a lawn, if 1/10 of the lawn is taken up to start with and it increases in size by a rate of 1/5 of the remainder of the lawn each year

	An amount, in pounds, that when decreased by 10%, and 10% again, equals £4.29


	A compound interest percentage rate which will increase £10 by at least £1 over 3 years


	The original cost, in pounds, of a ticket costing £48 after a 20% increase

	A compound interest that would increase £500 by between £30 and £100 when invested for 3 years


	The number of years it takes an endangered population of 4000 to decrease to 100 at 40% per year
	The original price, in pounds, of a bottle of wine costing £5.64 after a 6% reduction
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